

Subtract Fractions With Like Denominators (A)

These fractions
have the same
denominators.

$$\frac{4}{7} - \frac{3}{7} = \frac{1}{7}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{6}{7} - \frac{2}{7} =$$

$$\frac{8}{9} - \frac{3}{9} =$$

$$\frac{3}{4} - \frac{2}{4} =$$

$$\frac{8}{10} - \frac{1}{10} =$$

$$\frac{3}{4} - \frac{2}{4} =$$

$$\frac{2}{7} - \frac{1}{7} =$$

$$\frac{6}{9} - \frac{5}{9} =$$

$$\frac{4}{10} - \frac{3}{10} =$$

$$\frac{4}{5} - \frac{3}{5} =$$

$$\frac{2}{5} - \frac{1}{5} =$$

$$\frac{9}{10} - \frac{2}{10} =$$

$$\frac{2}{8} - \frac{1}{8} =$$

$$\frac{6}{7} - \frac{2}{7} =$$

$$\frac{7}{11} - \frac{5}{11} =$$

$$\frac{3}{6} - \frac{2}{6} =$$

$$\frac{2}{10} - \frac{1}{10} =$$

$$\frac{5}{11} - \frac{2}{11} =$$

$$\frac{6}{7} - \frac{2}{7} =$$

$$\frac{6}{10} - \frac{5}{10} =$$

$$\frac{3}{5} - \frac{1}{5} =$$

$$\frac{3}{7} - \frac{2}{7} =$$

$$\frac{8}{10} - \frac{7}{10} =$$

$$\frac{8}{10} - \frac{1}{10} =$$

$$\frac{5}{8} - \frac{4}{8} =$$

Subtract Fractions With Like Denominators (A) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{4}{7} - \frac{3}{7} = \frac{1}{7}$$

$$\frac{6}{7} - \frac{2}{7} = \frac{4}{7}$$

$$\frac{8}{9} - \frac{3}{9} = \frac{5}{9}$$

$$\frac{3}{4} - \frac{2}{4} = \frac{1}{4}$$

$$\frac{8}{10} - \frac{1}{10} = \frac{7}{10}$$

$$\frac{3}{4} - \frac{2}{4} = \frac{1}{4}$$

$$\frac{2}{7} - \frac{1}{7} = \frac{1}{7}$$

$$\frac{6}{9} - \frac{5}{9} = \frac{1}{9}$$

$$\frac{4}{10} - \frac{3}{10} = \frac{1}{10}$$

$$\frac{4}{5} - \frac{3}{5} = \frac{1}{5}$$

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

$$\frac{9}{10} - \frac{2}{10} = \frac{7}{10}$$

$$\frac{2}{8} - \frac{1}{8} = \frac{1}{8}$$

$$\frac{6}{7} - \frac{2}{7} = \frac{4}{7}$$

$$\frac{7}{11} - \frac{5}{11} = \frac{2}{11}$$

$$\frac{3}{6} - \frac{2}{6} = \frac{1}{6}$$

$$\frac{2}{10} - \frac{1}{10} = \frac{1}{10}$$

$$\frac{5}{11} - \frac{2}{11} = \frac{3}{11}$$

$$\frac{6}{7} - \frac{2}{7} = \frac{4}{7}$$

$$\frac{6}{10} - \frac{5}{10} = \frac{1}{10}$$

$$\frac{3}{5} - \frac{1}{5} = \frac{2}{5}$$

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

$$\frac{8}{10} - \frac{7}{10} = \frac{1}{10}$$

$$\frac{8}{10} - \frac{1}{10} = \frac{7}{10}$$

$$\frac{5}{8} - \frac{4}{8} = \frac{1}{8}$$

Subtract Fractions With Like Denominators (B)

These fractions
have the same
denominators.

$$\frac{6}{11} - \frac{5}{11} = \frac{1}{11}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{8}{10} - \frac{5}{10} =$$

$$\frac{3}{9} - \frac{1}{9} =$$

$$\frac{6}{8} - \frac{1}{8} =$$

$$\frac{6}{7} - \frac{1}{7} =$$

$$\frac{5}{6} - \frac{4}{6} =$$

$$\frac{4}{11} - \frac{1}{11} =$$

$$\frac{5}{9} - \frac{3}{9} =$$

$$\frac{8}{11} - \frac{6}{11} =$$

$$\frac{4}{5} - \frac{3}{5} =$$

$$\frac{4}{8} - \frac{3}{8} =$$

$$\frac{9}{10} - \frac{2}{10} =$$

$$\frac{8}{9} - \frac{4}{9} =$$

$$\frac{7}{11} - \frac{6}{11} =$$

$$\frac{4}{7} - \frac{3}{7} =$$

$$\frac{4}{7} - \frac{2}{7} =$$

$$\frac{4}{8} - \frac{3}{8} =$$

$$\frac{6}{11} - \frac{5}{11} =$$

$$\frac{7}{9} - \frac{3}{9} =$$

$$\frac{6}{8} - \frac{5}{8} =$$

$$\frac{7}{11} - \frac{5}{11} =$$

$$\frac{9}{11} - \frac{7}{11} =$$

$$\frac{5}{8} - \frac{2}{8} =$$

$$\frac{6}{11} - \frac{3}{11} =$$

$$\frac{3}{5} - \frac{2}{5} =$$

Subtract Fractions With Like Denominators (B) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{6}{11} - \frac{5}{11} = \frac{1}{11}$$

$$\frac{8}{10} - \frac{5}{10} = \frac{3}{10}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{6}{8} - \frac{1}{8} = \frac{5}{8}$$

$$\frac{6}{7} - \frac{1}{7} = \frac{5}{7}$$

$$\frac{5}{6} - \frac{4}{6} = \frac{1}{6}$$

$$\frac{4}{11} - \frac{1}{11} = \frac{3}{11}$$

$$\frac{5}{9} - \frac{3}{9} = \frac{2}{9}$$

$$\frac{8}{11} - \frac{6}{11} = \frac{2}{11}$$

$$\frac{4}{5} - \frac{3}{5} = \frac{1}{5}$$

$$\frac{4}{8} - \frac{3}{8} = \frac{1}{8}$$

$$\frac{9}{10} - \frac{2}{10} = \frac{7}{10}$$

$$\frac{8}{9} - \frac{4}{9} = \frac{4}{9}$$

$$\frac{7}{11} - \frac{6}{11} = \frac{1}{11}$$

$$\frac{4}{7} - \frac{3}{7} = \frac{1}{7}$$

$$\frac{4}{7} - \frac{2}{7} = \frac{2}{7}$$

$$\frac{4}{8} - \frac{3}{8} = \frac{1}{8}$$

$$\frac{6}{11} - \frac{5}{11} = \frac{1}{11}$$

$$\frac{7}{9} - \frac{3}{9} = \frac{4}{9}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{7}{11} - \frac{5}{11} = \frac{2}{11}$$

$$\frac{9}{11} - \frac{7}{11} = \frac{2}{11}$$

$$\frac{5}{8} - \frac{2}{8} = \frac{3}{8}$$

$$\frac{6}{11} - \frac{3}{11} = \frac{3}{11}$$

$$\frac{3}{5} - \frac{2}{5} = \frac{1}{5}$$

Subtract Fractions With Like Denominators (C)

These fractions
have the same
denominators.

$$\frac{4}{11} - \frac{2}{11} = \frac{2}{11}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{9}{11} - \frac{8}{11} =$$

$$\frac{9}{10} - \frac{8}{10} =$$

$$\frac{6}{10} - \frac{3}{10} =$$

$$\frac{3}{8} - \frac{2}{8} =$$

$$\frac{5}{6} - \frac{4}{6} =$$

$$\frac{6}{9} - \frac{4}{9} =$$

$$\frac{4}{8} - \frac{3}{8} =$$

$$\frac{5}{11} - \frac{2}{11} =$$

$$\frac{7}{9} - \frac{5}{9} =$$

$$\frac{2}{4} - \frac{1}{4} =$$

$$\frac{7}{11} - \frac{4}{11} =$$

$$\frac{9}{11} - \frac{6}{11} =$$

$$\frac{9}{10} - \frac{8}{10} =$$

$$\frac{7}{9} - \frac{6}{9} =$$

$$\frac{3}{7} - \frac{1}{7} =$$

$$\frac{7}{11} - \frac{5}{11} =$$

$$\frac{10}{11} - \frac{7}{11} =$$

$$\frac{3}{7} - \frac{2}{7} =$$

$$\frac{5}{7} - \frac{1}{7} =$$

$$\frac{6}{8} - \frac{1}{8} =$$

$$\frac{9}{11} - \frac{8}{11} =$$

$$\frac{6}{9} - \frac{1}{9} =$$

$$\frac{3}{11} - \frac{2}{11} =$$

$$\frac{2}{11} - \frac{1}{11} =$$

Subtract Fractions With Like Denominators (C) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{4}{11} - \frac{2}{11} = \frac{2}{11}$$

$$\frac{9}{11} - \frac{8}{11} = \frac{1}{11}$$

$$\frac{9}{10} - \frac{8}{10} = \frac{1}{10}$$

$$\frac{6}{10} - \frac{3}{10} = \frac{3}{10}$$

$$\frac{3}{8} - \frac{2}{8} = \frac{1}{8}$$

$$\frac{5}{6} - \frac{4}{6} = \frac{1}{6}$$

$$\frac{6}{9} - \frac{4}{9} = \frac{2}{9}$$

$$\frac{4}{8} - \frac{3}{8} = \frac{1}{8}$$

$$\frac{5}{11} - \frac{2}{11} = \frac{3}{11}$$

$$\frac{7}{9} - \frac{5}{9} = \frac{2}{9}$$

$$\frac{2}{4} - \frac{1}{4} = \frac{1}{4}$$

$$\frac{7}{11} - \frac{4}{11} = \frac{3}{11}$$

$$\frac{9}{11} - \frac{6}{11} = \frac{3}{11}$$

$$\frac{9}{10} - \frac{8}{10} = \frac{1}{10}$$

$$\frac{7}{9} - \frac{6}{9} = \frac{1}{9}$$

$$\frac{3}{7} - \frac{1}{7} = \frac{2}{7}$$

$$\frac{7}{11} - \frac{5}{11} = \frac{2}{11}$$

$$\frac{10}{11} - \frac{7}{11} = \frac{3}{11}$$

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

$$\frac{5}{7} - \frac{1}{7} = \frac{4}{7}$$

$$\frac{6}{8} - \frac{1}{8} = \frac{5}{8}$$

$$\frac{9}{11} - \frac{8}{11} = \frac{1}{11}$$

$$\frac{6}{9} - \frac{1}{9} = \frac{5}{9}$$

$$\frac{3}{11} - \frac{2}{11} = \frac{1}{11}$$

$$\frac{2}{11} - \frac{1}{11} = \frac{1}{11}$$

Subtract Fractions With Like Denominators (D)

These fractions
have the same
denominators.

$$\frac{8}{10} - \frac{1}{10} = \frac{7}{10}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{8}{9} - \frac{7}{9} =$$

$$\frac{8}{11} - \frac{6}{11} =$$

$$\frac{9}{11} - \frac{8}{11} =$$

$$\frac{4}{7} - \frac{3}{7} =$$

$$\frac{4}{7} - \frac{3}{7} =$$

$$\frac{5}{8} - \frac{2}{8} =$$

$$\frac{7}{11} - \frac{4}{11} =$$

$$\frac{6}{8} - \frac{5}{8} =$$

$$\frac{4}{11} - \frac{3}{11} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{4}{5} - \frac{2}{5} =$$

$$\frac{8}{11} - \frac{7}{11} =$$

$$\frac{6}{8} - \frac{5}{8} =$$

$$\frac{5}{7} - \frac{3}{7} =$$

$$\frac{4}{9} - \frac{2}{9} =$$

$$\frac{6}{7} - \frac{5}{7} =$$

$$\frac{5}{7} - \frac{3}{7} =$$

$$\frac{8}{9} - \frac{1}{9} =$$

$$\frac{7}{11} - \frac{4}{11} =$$

$$\frac{7}{10} - \frac{4}{10} =$$

$$\frac{10}{11} - \frac{8}{11} =$$

$$\frac{2}{5} - \frac{1}{5} =$$

$$\frac{4}{10} - \frac{1}{10} =$$

$$\frac{3}{10} - \frac{2}{10} =$$

Subtract Fractions With Like Denominators (D) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{8}{10} - \frac{1}{10} = \frac{7}{10}$$

$$\frac{8}{9} - \frac{7}{9} = \frac{1}{9}$$

$$\frac{8}{11} - \frac{6}{11} = \frac{2}{11}$$

$$\frac{9}{11} - \frac{8}{11} = \frac{1}{11}$$

$$\frac{4}{7} - \frac{3}{7} = \frac{1}{7}$$

$$\frac{4}{7} - \frac{3}{7} = \frac{1}{7}$$

$$\frac{5}{8} - \frac{2}{8} = \frac{3}{8}$$

$$\frac{7}{11} - \frac{4}{11} = \frac{3}{11}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{4}{11} - \frac{3}{11} = \frac{1}{11}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{4}{5} - \frac{2}{5} = \frac{2}{5}$$

$$\frac{8}{11} - \frac{7}{11} = \frac{1}{11}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{5}{7} - \frac{3}{7} = \frac{2}{7}$$

$$\frac{4}{9} - \frac{2}{9} = \frac{2}{9}$$

$$\frac{6}{7} - \frac{5}{7} = \frac{1}{7}$$

$$\frac{5}{7} - \frac{3}{7} = \frac{2}{7}$$

$$\frac{8}{9} - \frac{1}{9} = \frac{7}{9}$$

$$\frac{7}{11} - \frac{4}{11} = \frac{3}{11}$$

$$\frac{7}{10} - \frac{4}{10} = \frac{3}{10}$$

$$\frac{10}{11} - \frac{8}{11} = \frac{2}{11}$$

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

$$\frac{4}{10} - \frac{1}{10} = \frac{3}{10}$$

$$\frac{3}{10} - \frac{2}{10} = \frac{1}{10}$$

Subtract Fractions With Like Denominators (E)

These fractions
have the same
denominators.

$$\frac{10}{11} - \frac{7}{11} = \frac{3}{11}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{3}{5} - \frac{1}{5} =$$

$$\frac{6}{11} - \frac{3}{11} =$$

$$\frac{4}{10} - \frac{3}{10} =$$

$$\frac{2}{5} - \frac{1}{5} =$$

$$\frac{4}{5} - \frac{1}{5} =$$

$$\frac{4}{7} - \frac{3}{7} =$$

$$\frac{5}{9} - \frac{1}{9} =$$

$$\frac{7}{10} - \frac{4}{10} =$$

$$\frac{2}{7} - \frac{1}{7} =$$

$$\frac{8}{9} - \frac{4}{9} =$$

$$\frac{4}{7} - \frac{2}{7} =$$

$$\frac{7}{9} - \frac{3}{9} =$$

$$\frac{4}{7} - \frac{1}{7} =$$

$$\frac{5}{6} - \frac{4}{6} =$$

$$\frac{8}{11} - \frac{6}{11} =$$

$$\frac{2}{8} - \frac{1}{8} =$$

$$\frac{3}{9} - \frac{1}{9} =$$

$$\frac{3}{11} - \frac{2}{11} =$$

$$\frac{5}{6} - \frac{4}{6} =$$

$$\frac{8}{10} - \frac{5}{10} =$$

$$\frac{6}{8} - \frac{5}{8} =$$

$$\frac{4}{7} - \frac{2}{7} =$$

$$\frac{5}{7} - \frac{1}{7} =$$

$$\frac{9}{10} - \frac{6}{10} =$$

Subtract Fractions With Like Denominators (E) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{10}{11} - \frac{7}{11} = \frac{3}{11}$$

$$\frac{3}{5} - \frac{1}{5} = \frac{2}{5}$$

$$\frac{6}{11} - \frac{3}{11} = \frac{3}{11}$$

$$\frac{4}{10} - \frac{3}{10} = \frac{1}{10}$$

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

$$\frac{4}{5} - \frac{1}{5} = \frac{3}{5}$$

$$\frac{4}{7} - \frac{3}{7} = \frac{1}{7}$$

$$\frac{5}{9} - \frac{1}{9} = \frac{4}{9}$$

$$\frac{7}{10} - \frac{4}{10} = \frac{3}{10}$$

$$\frac{2}{7} - \frac{1}{7} = \frac{1}{7}$$

$$\frac{8}{9} - \frac{4}{9} = \frac{4}{9}$$

$$\frac{4}{7} - \frac{2}{7} = \frac{2}{7}$$

$$\frac{7}{9} - \frac{3}{9} = \frac{4}{9}$$

$$\frac{4}{7} - \frac{1}{7} = \frac{3}{7}$$

$$\frac{5}{6} - \frac{4}{6} = \frac{1}{6}$$

$$\frac{8}{11} - \frac{6}{11} = \frac{2}{11}$$

$$\frac{2}{8} - \frac{1}{8} = \frac{1}{8}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{3}{11} - \frac{2}{11} = \frac{1}{11}$$

$$\frac{5}{6} - \frac{4}{6} = \frac{1}{6}$$

$$\frac{8}{10} - \frac{5}{10} = \frac{3}{10}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{4}{7} - \frac{2}{7} = \frac{2}{7}$$

$$\frac{5}{7} - \frac{1}{7} = \frac{4}{7}$$

$$\frac{9}{10} - \frac{6}{10} = \frac{3}{10}$$

Subtract Fractions With Like Denominators (F)

These fractions
have the same
denominators.

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{6}{11} - \frac{4}{11} =$$

$$\frac{8}{9} - \frac{6}{9} =$$

$$\frac{4}{11} - \frac{3}{11} =$$

$$\frac{8}{9} - \frac{4}{9} =$$

$$\frac{8}{10} - \frac{1}{10} =$$

$$\frac{8}{9} - \frac{6}{9} =$$

$$\frac{7}{8} - \frac{6}{8} =$$

$$\frac{4}{5} - \frac{2}{5} =$$

$$\frac{7}{8} - \frac{2}{8} =$$

$$\frac{5}{11} - \frac{2}{11} =$$

$$\frac{5}{9} - \frac{3}{9} =$$

$$\frac{4}{9} - \frac{2}{9} =$$

$$\frac{5}{10} - \frac{4}{10} =$$

$$\frac{2}{10} - \frac{1}{10} =$$

$$\frac{9}{11} - \frac{6}{11} =$$

$$\frac{3}{9} - \frac{1}{9} =$$

$$\frac{3}{11} - \frac{1}{11} =$$

$$\frac{4}{5} - \frac{3}{5} =$$

$$\frac{9}{11} - \frac{6}{11} =$$

$$\frac{5}{7} - \frac{3}{7} =$$

$$\frac{4}{5} - \frac{1}{5} =$$

$$\frac{6}{8} - \frac{1}{8} =$$

$$\frac{6}{8} - \frac{5}{8} =$$

$$\frac{5}{9} - \frac{4}{9} =$$

Subtract Fractions With Like Denominators (F) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

$$\frac{6}{11} - \frac{4}{11} = \frac{2}{11}$$

$$\frac{8}{9} - \frac{6}{9} = \frac{2}{9}$$

$$\frac{4}{11} - \frac{3}{11} = \frac{1}{11}$$

$$\frac{8}{9} - \frac{4}{9} = \frac{4}{9}$$

$$\frac{8}{10} - \frac{1}{10} = \frac{7}{10}$$

$$\frac{8}{9} - \frac{6}{9} = \frac{2}{9}$$

$$\frac{7}{8} - \frac{6}{8} = \frac{1}{8}$$

$$\frac{4}{5} - \frac{2}{5} = \frac{2}{5}$$

$$\frac{7}{8} - \frac{2}{8} = \frac{5}{8}$$

$$\frac{5}{11} - \frac{2}{11} = \frac{3}{11}$$

$$\frac{5}{9} - \frac{3}{9} = \frac{2}{9}$$

$$\frac{4}{9} - \frac{2}{9} = \frac{2}{9}$$

$$\frac{5}{10} - \frac{4}{10} = \frac{1}{10}$$

$$\frac{2}{10} - \frac{1}{10} = \frac{1}{10}$$

$$\frac{9}{11} - \frac{6}{11} = \frac{3}{11}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{3}{11} - \frac{1}{11} = \frac{2}{11}$$

$$\frac{4}{5} - \frac{3}{5} = \frac{1}{5}$$

$$\frac{9}{11} - \frac{6}{11} = \frac{3}{11}$$

$$\frac{5}{7} - \frac{3}{7} = \frac{2}{7}$$

$$\frac{4}{5} - \frac{1}{5} = \frac{3}{5}$$

$$\frac{6}{8} - \frac{1}{8} = \frac{5}{8}$$

$$\frac{6}{8} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{5}{9} - \frac{4}{9} = \frac{1}{9}$$

Subtract Fractions With Like Denominators (G)

These fractions
have the same
denominators.

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{2}{5} - \frac{1}{5} =$$

$$\frac{5}{9} - \frac{3}{9} =$$

$$\frac{5}{11} - \frac{4}{11} =$$

$$\frac{3}{7} - \frac{2}{7} =$$

$$\frac{6}{11} - \frac{5}{11} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{3}{9} - \frac{1}{9} =$$

$$\frac{9}{10} - \frac{6}{10} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{4}{10} - \frac{1}{10} =$$

$$\frac{8}{9} - \frac{4}{9} =$$

$$\frac{3}{9} - \frac{1}{9} =$$

$$\frac{8}{11} - \frac{5}{11} =$$

$$\frac{7}{9} - \frac{6}{9} =$$

$$\frac{6}{7} - \frac{3}{7} =$$

$$\frac{4}{8} - \frac{1}{8} =$$

$$\frac{4}{7} - \frac{2}{7} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{6}{8} - \frac{3}{8} =$$

$$\frac{5}{9} - \frac{1}{9} =$$

$$\frac{2}{5} - \frac{1}{5} =$$

$$\frac{2}{6} - \frac{1}{6} =$$

$$\frac{9}{11} - \frac{6}{11} =$$

$$\frac{3}{11} - \frac{2}{11} =$$

Subtract Fractions With Like Denominators (G) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

$$\frac{5}{9} - \frac{3}{9} = \frac{2}{9}$$

$$\frac{5}{11} - \frac{4}{11} = \frac{1}{11}$$

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

$$\frac{6}{11} - \frac{5}{11} = \frac{1}{11}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{9}{10} - \frac{6}{10} = \frac{3}{10}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{4}{10} - \frac{1}{10} = \frac{3}{10}$$

$$\frac{8}{9} - \frac{4}{9} = \frac{4}{9}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{8}{11} - \frac{5}{11} = \frac{3}{11}$$

$$\frac{7}{9} - \frac{6}{9} = \frac{1}{9}$$

$$\frac{6}{7} - \frac{3}{7} = \frac{3}{7}$$

$$\frac{4}{8} - \frac{1}{8} = \frac{3}{8}$$

$$\frac{4}{7} - \frac{2}{7} = \frac{2}{7}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{6}{8} - \frac{3}{8} = \frac{3}{8}$$

$$\frac{5}{9} - \frac{1}{9} = \frac{4}{9}$$

$$\frac{2}{5} - \frac{1}{5} = \frac{1}{5}$$

$$\frac{2}{6} - \frac{1}{6} = \frac{1}{6}$$

$$\frac{9}{11} - \frac{6}{11} = \frac{3}{11}$$

$$\frac{3}{11} - \frac{2}{11} = \frac{1}{11}$$

Subtract Fractions With Like Denominators (H)

These fractions
have the same
denominators.

$$\frac{4}{7} - \frac{1}{7} = \frac{3}{7}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{7}{9} - \frac{5}{9} =$$

$$\frac{9}{11} - \frac{6}{11} =$$

$$\frac{8}{11} - \frac{6}{11} =$$

$$\frac{4}{9} - \frac{2}{9} =$$

$$\frac{8}{9} - \frac{4}{9} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{2}{7} - \frac{1}{7} =$$

$$\frac{3}{11} - \frac{2}{11} =$$

$$\frac{2}{11} - \frac{1}{11} =$$

$$\frac{10}{11} - \frac{7}{11} =$$

$$\frac{6}{9} - \frac{1}{9} =$$

$$\frac{7}{9} - \frac{5}{9} =$$

$$\frac{4}{11} - \frac{3}{11} =$$

$$\frac{7}{9} - \frac{3}{9} =$$

$$\frac{6}{7} - \frac{3}{7} =$$

$$\frac{2}{4} - \frac{1}{4} =$$

$$\frac{8}{9} - \frac{1}{9} =$$

$$\frac{10}{11} - \frac{8}{11} =$$

$$\frac{3}{11} - \frac{2}{11} =$$

$$\frac{4}{5} - \frac{3}{5} =$$

$$\frac{7}{8} - \frac{4}{8} =$$

$$\frac{2}{6} - \frac{1}{6} =$$

$$\frac{8}{11} - \frac{6}{11} =$$

$$\frac{2}{7} - \frac{1}{7} =$$

Subtract Fractions With Like Denominators (H) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{4}{7} - \frac{1}{7} = \frac{3}{7}$$

$$\frac{7}{9} - \frac{5}{9} = \frac{2}{9}$$

$$\frac{9}{11} - \frac{6}{11} = \frac{3}{11}$$

$$\frac{8}{11} - \frac{6}{11} = \frac{2}{11}$$

$$\frac{4}{9} - \frac{2}{9} = \frac{2}{9}$$

$$\frac{8}{9} - \frac{4}{9} = \frac{4}{9}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{2}{7} - \frac{1}{7} = \frac{1}{7}$$

$$\frac{3}{11} - \frac{2}{11} = \frac{1}{11}$$

$$\frac{2}{11} - \frac{1}{11} = \frac{1}{11}$$

$$\frac{10}{11} - \frac{7}{11} = \frac{3}{11}$$

$$\frac{6}{9} - \frac{1}{9} = \frac{5}{9}$$

$$\frac{7}{9} - \frac{5}{9} = \frac{2}{9}$$

$$\frac{4}{11} - \frac{3}{11} = \frac{1}{11}$$

$$\frac{7}{9} - \frac{3}{9} = \frac{4}{9}$$

$$\frac{6}{7} - \frac{3}{7} = \frac{3}{7}$$

$$\frac{2}{4} - \frac{1}{4} = \frac{1}{4}$$

$$\frac{8}{9} - \frac{1}{9} = \frac{7}{9}$$

$$\frac{10}{11} - \frac{8}{11} = \frac{2}{11}$$

$$\frac{3}{11} - \frac{2}{11} = \frac{1}{11}$$

$$\frac{4}{5} - \frac{3}{5} = \frac{1}{5}$$

$$\frac{7}{8} - \frac{4}{8} = \frac{3}{8}$$

$$\frac{2}{6} - \frac{1}{6} = \frac{1}{6}$$

$$\frac{8}{11} - \frac{6}{11} = \frac{2}{11}$$

$$\frac{2}{7} - \frac{1}{7} = \frac{1}{7}$$

Subtract Fractions With Like Denominators (I)

These fractions
have the same
denominators.

$$\frac{7}{10} - \frac{4}{10} = \frac{3}{10}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{2}{3} - \frac{1}{3} =$$

$$\frac{6}{11} - \frac{4}{11} =$$

$$\frac{4}{11} - \frac{2}{11} =$$

$$\frac{9}{10} - \frac{2}{10} =$$

$$\frac{2}{8} - \frac{1}{8} =$$

$$\frac{8}{9} - \frac{7}{9} =$$

$$\frac{3}{11} - \frac{1}{11} =$$

$$\frac{6}{7} - \frac{3}{7} =$$

$$\frac{4}{5} - \frac{3}{5} =$$

$$\frac{2}{3} - \frac{1}{3} =$$

$$\frac{6}{11} - \frac{3}{11} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{3}{7} - \frac{1}{7} =$$

$$\frac{3}{4} - \frac{2}{4} =$$

$$\frac{8}{11} - \frac{7}{11} =$$

$$\frac{4}{11} - \frac{2}{11} =$$

$$\frac{8}{11} - \frac{7}{11} =$$

$$\frac{6}{7} - \frac{4}{7} =$$

$$\frac{5}{7} - \frac{3}{7} =$$

$$\frac{6}{7} - \frac{1}{7} =$$

$$\frac{2}{4} - \frac{1}{4} =$$

$$\frac{7}{9} - \frac{2}{9} =$$

$$\frac{4}{11} - \frac{3}{11} =$$

$$\frac{5}{10} - \frac{2}{10} =$$

Subtract Fractions With Like Denominators (I) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{7}{10} - \frac{4}{10} = \frac{3}{10}$$

$$\frac{2}{3} - \frac{1}{3} = \frac{1}{3}$$

$$\frac{6}{11} - \frac{4}{11} = \frac{2}{11}$$

$$\frac{4}{11} - \frac{2}{11} = \frac{2}{11}$$

$$\frac{9}{10} - \frac{2}{10} = \frac{7}{10}$$

$$\frac{2}{8} - \frac{1}{8} = \frac{1}{8}$$

$$\frac{8}{9} - \frac{7}{9} = \frac{1}{9}$$

$$\frac{3}{11} - \frac{1}{11} = \frac{2}{11}$$

$$\frac{6}{7} - \frac{3}{7} = \frac{3}{7}$$

$$\frac{4}{5} - \frac{3}{5} = \frac{1}{5}$$

$$\frac{2}{3} - \frac{1}{3} = \frac{1}{3}$$

$$\frac{6}{11} - \frac{3}{11} = \frac{3}{11}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{3}{7} - \frac{1}{7} = \frac{2}{7}$$

$$\frac{3}{4} - \frac{2}{4} = \frac{1}{4}$$

$$\frac{8}{11} - \frac{7}{11} = \frac{1}{11}$$

$$\frac{4}{11} - \frac{2}{11} = \frac{2}{11}$$

$$\frac{8}{11} - \frac{7}{11} = \frac{1}{11}$$

$$\frac{6}{7} - \frac{4}{7} = \frac{2}{7}$$

$$\frac{5}{7} - \frac{3}{7} = \frac{2}{7}$$

$$\frac{6}{7} - \frac{1}{7} = \frac{5}{7}$$

$$\frac{2}{4} - \frac{1}{4} = \frac{1}{4}$$

$$\frac{7}{9} - \frac{2}{9} = \frac{5}{9}$$

$$\frac{4}{11} - \frac{3}{11} = \frac{1}{11}$$

$$\frac{5}{10} - \frac{2}{10} = \frac{3}{10}$$

Subtract Fractions With Like Denominators (J)

These fractions
have the same
denominators.

$$\frac{6}{9} - \frac{5}{9} = \frac{1}{9}$$

Subtract the
numerators.
Keep the same
denominator.

$$\frac{6}{9} - \frac{1}{9} =$$

$$\frac{8}{9} - \frac{7}{9} =$$

$$\frac{9}{11} - \frac{7}{11} =$$

$$\frac{8}{9} - \frac{6}{9} =$$

$$\frac{6}{11} - \frac{3}{11} =$$

$$\frac{3}{5} - \frac{2}{5} =$$

$$\frac{6}{11} - \frac{4}{11} =$$

$$\frac{4}{6} - \frac{3}{6} =$$

$$\frac{7}{11} - \frac{6}{11} =$$

$$\frac{7}{9} - \frac{3}{9} =$$

$$\frac{6}{7} - \frac{4}{7} =$$

$$\frac{3}{7} - \frac{1}{7} =$$

$$\frac{6}{11} - \frac{3}{11} =$$

$$\frac{7}{9} - \frac{6}{9} =$$

$$\frac{7}{9} - \frac{2}{9} =$$

$$\frac{3}{7} - \frac{2}{7} =$$

$$\frac{3}{11} - \frac{1}{11} =$$

$$\frac{5}{8} - \frac{2}{8} =$$

$$\frac{9}{10} - \frac{2}{10} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{3}{9} - \frac{2}{9} =$$

$$\frac{5}{10} - \frac{4}{10} =$$

$$\frac{7}{8} - \frac{2}{8} =$$

$$\frac{2}{11} - \frac{1}{11} =$$

Subtract Fractions With Like Denominators (J) Answers

Note to teacher: All of the differences result in a fraction in lowest terms. Try using fraction strips or fraction circles with this worksheet.

$$\frac{6}{9} - \frac{5}{9} = \frac{1}{9}$$

$$\frac{6}{9} - \frac{1}{9} = \frac{5}{9}$$

$$\frac{8}{9} - \frac{7}{9} = \frac{1}{9}$$

$$\frac{9}{11} - \frac{7}{11} = \frac{2}{11}$$

$$\frac{8}{9} - \frac{6}{9} = \frac{2}{9}$$

$$\frac{6}{11} - \frac{3}{11} = \frac{3}{11}$$

$$\frac{3}{5} - \frac{2}{5} = \frac{1}{5}$$

$$\frac{6}{11} - \frac{4}{11} = \frac{2}{11}$$

$$\frac{4}{6} - \frac{3}{6} = \frac{1}{6}$$

$$\frac{7}{11} - \frac{6}{11} = \frac{1}{11}$$

$$\frac{7}{9} - \frac{3}{9} = \frac{4}{9}$$

$$\frac{6}{7} - \frac{4}{7} = \frac{2}{7}$$

$$\frac{3}{7} - \frac{1}{7} = \frac{2}{7}$$

$$\frac{6}{11} - \frac{3}{11} = \frac{3}{11}$$

$$\frac{7}{9} - \frac{6}{9} = \frac{1}{9}$$

$$\frac{7}{9} - \frac{2}{9} = \frac{5}{9}$$

$$\frac{3}{7} - \frac{2}{7} = \frac{1}{7}$$

$$\frac{3}{11} - \frac{1}{11} = \frac{2}{11}$$

$$\frac{5}{8} - \frac{2}{8} = \frac{3}{8}$$

$$\frac{9}{10} - \frac{2}{10} = \frac{7}{10}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{3}{9} - \frac{2}{9} = \frac{1}{9}$$

$$\frac{5}{10} - \frac{4}{10} = \frac{1}{10}$$

$$\frac{7}{8} - \frac{2}{8} = \frac{5}{8}$$

$$\frac{2}{11} - \frac{1}{11} = \frac{1}{11}$$